EARAROBEEIERT — 2 N— IBISH —F

20129F9A5H (K) smEHIA

il >%3mE C3— ‘ (XM&] W ‘ (] — | 4 (@) 14000 &
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N R EPEEE S i 3 g;%lﬁqi 1:(3_1).4 3-3-2-2 [40.0| — 7 410 g%‘;;@ (Em)
RAYYLTH LT BATINEAILY #0) | ki b 4iis
5 3| 2xXHTn H o4 ;!;fgﬁz (17:274) 2-2-1-1 [ 40.1| — 1 455 ;J]:ﬁgézéﬁﬂﬂ)
QRXH TR B:d—d—RXH 42| sty
=] . AN . (£
sl7l 7| K5z i 3 EEE:T); (17;32;1) 4-4-4-3 | 39.7 4 <4+121) ?E}f (Pats)
LT7RIAYRY B:AX/ 7477 BEH #F
4 4|77y TN a— # 8 s%iﬁg%ui 1:(331).9 5555 [40.2| — | 3 | 482 Eé)ﬁi_(?”ﬁ’?
Q:aYRYAS BSLELy RELR #8) | wass—n
RTANRTy 2 BAAAFKEE HREM HFHT 7L
6 2| ENTT f 5 gﬁ*ﬁ 1(:13/22.)5 5666 |40.3| — | 9 | 457 %ﬁg% (EmB)
R:4YAYIY BIATNE—S— ) |5 N Sr—n e
. T8 S
7155 | 1%/ v Hi— 7 ;J%iﬁ 21.35.‘3 8-8-8-8 |40.4| — | 5 (4_920) igﬁég (i)
L:ZYTHTF— BANATI14—-2 LR &
slglo AR e 4 3 2523;%% 1:(353).6 7-7-9-9 |41.2| — 6 452 ﬁg%}(ﬁm)
R:TSvvk—y B:OvIRTT1 (-3) B 4S
ol1]1| =TI THI> L] 5’:‘3‘1*3*&-# 1(:33/1)7 1-1-3-4 | 42.4| — 10 | 436 E?};ﬁ (Em)
Qi anE—5— BE1TFeAL 49 ek mis
10 6| =KERnETY # 8 gis_ﬂgkﬁk 1(7335? 10-10-10-10{ 40.9 | — 8 500 Eilﬁléé (Em)
R:ERRAXpy b BALEORA— b SN Ay
® 1—F—@EBIERL
1T=7r= 1,3,8,7,(2,4),9,5,10,6
23— — 1,3,8,7,4,2,9,5,10,6
== 3,8,1,7,4,2,10,5,9,6
43—+ — 3,8,7,1,4,2,10,5,9,6
[ N5
B 8 3,260/ 714K 3-8 1,060 e E 3-7 580 JEE 3-7-8 5,210
B B 8 570M 7-8 2,040 B = 3-8 2,290M JEE 8-3-7 81,540/
3 120M 3-7 430 B H 8-3 7,110
7 290M

ABICOVWTRDTEEERROODE. TR LIV,




